20254F (=ZFF) ML ERBEITHREE

FRT|  FRALEAT BT CRET I et hanel L REE
ViFA N P4 R 1 EL it 23 ) 10kV881JHi V4 £k 110kV 7R Jm A% H ok 7967.4 95.02
B 0 i W R 4 B it B 20 ] 10kV 5924 LIV (1] £& 110KV 7R K AL H i 3637.3 1354.44
B M T g R 1 EL it 23 ) 10kV537HF 3k £k 35KV # Sk A% L 6408.6 412.18
Hr M T oA it 4 L fik R A ] 10kV5974 L 1 1] 45 110KV 7R K A% H 3637.3 3245.04
B M T g R EL it e 23 ) 10kV5285F 5 1] £k 35KV PRI I AR HL 6408.6 404.78
Br M T oA {5 4 LA E 0 ] 10kV563 & [ 2k 220KV LR AE AR F 6928.2 3644.76
B JH T ) P A EL A vl 2 ] 10kV 891 I 4 11 [l 2k 110KV 7R <AL HL ki 6408.6 3581.55
e M T oA {5 4 EL A H 0 ] 10kV/ 569K ¥ £k 220kV PR AEAR H 6408.6 434.58
B M T 4 R 1 EL it L 23 ) 10kV545F4 12k 35KV 7 i 74 AL HL 6408.6 202.98
B M T P £ L it r 23 ) 10kV568 51 5 i £k 220KV LRAEAR H i 6408.6 728.98
B M T g R 1 EL it 23 ) 10kV5385817 & 2k 35kV Sk AL HL 7967.4 1023.77
B 1 i o R4 B it B 20 ] 10kV524 [ X V4 2 35KV M I3 A R 3 6408.6 81.58
ViFL N 4 R 1 EL it L 23 ) 10k V596 3 FRLIIT [l £& 110kV 7R A% HL ki 3637.3 3127.61
e M T oA it 4 L ik R A ] 10kV 8934 L V' [1] £& 110KV 7R K AL H ik 6408.6 3066.73
B M T W PR A EL A L ] 10kV 526 4R I i 25 35KV PRI I AR HL 6408.6 461.18
Br M T oA it 4 L fik R A ] 10kV 8827 X FL £k 110KV 7R J5 4% H 6443.2 109.56
B M i ) P A EL A vl 2 ] 10kV 851 R A VA £k 110kV X1 5K 35 A% L ik 6928.2 122.66
Vg oA i 4 L fik R A ] 10kV584%% 5 FE £k 110KV 7R Jm 4% H i 3637.3 158.04
B 7 ] R 1 EL it L 23 ) 10kV566 %% K £k 220KV {R FE AR H i 6408.6 2594.28
B 0 i o R 4 B it B 20 ] 10kV 567/ - 2% 220kV PR A AR H 6408.6 589.68
ViFL N P4 R 1 EL it L 23 ) 10kV525+ 2 15 2% 35KV PRI I AR HEL s 6408.6 200.38
B 0 i o R 4 B it B 20 ] 10kV 895 I 2k 110KV 7R K AZ H1 8660.3 2154.33
ViFA N P4 R 1 EL it 23 ) 10kV 89247 5 5 2k 110kV 7R A% HL il 6408.6 641.98
Hr M T oA {5 4 EL AR E 0 ] 10kV 55175 4 2 110kV X1 5K 3 A% Ht il 6928.2 0
LupAii W] R L it L 23 ) 10kV852 %K [ 15 £k 110KV X1 5K 3 A% il 6928.2 0
A M P A LAY el 8 ] 10kV 894 3 11 [ 2% 110kV 7R S AL FL il 8140.6 0
B M T W P A EL A el ] 10kV53475 FE 2k 35kV Sk AL HL i 8660.3 0
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FRY|  FREHHAT 554 7k CRET I et hanel L REE
A W PR A EL A vl ] 10kV/583 5 V4 £k 110KV 7 Jay A% H i 6408.6 0
el P £ 4 LAY v 8 ] 10kV896 K # 4 £k 110KV 7R K48 i i 6928.2 0
B M T W PR A EL A vl 2 ] 10kV593 3 I [F1£k 110kV 7R S AL HL il 8140.6 0
A A AR EL At B ] 10kV 567517 2k 35KV T e AL L 10911.9 757.02
A [ A% B it A 7 10k V565X S5 W 2k 35KV T e AL HL I 10911.9 151.02
B 1 i A Bt H 2 ] 10kV 8427 I 2k 110KV b AL 1 il 10911.9 743.02
B M i ] [ AQEL A 2 ] 10kV848 /1 i 2k 110kV b 54 HL vk 10911.9 404.02
e T RRAR B F N ] 10kV 89174 [ £k 110kV 1£ & MHL AL F il 10911.9 218.42
B M T RARE L A 7] 10kV827| JHE £k 110KV AEPRAZ 3 9872.7 6.26
B M T WAL A E] 10kV5613 1 2k 35k VT i AL FL ik 3117.7 131.96
B M T RARE LR AR 10kV 8770 12k 110KV Ui 11725 F 35l 10911.9 844.7
B T RIACE LA 7] 10kV 8533 17 VIIZL 110KV b <AL il 3117.7 2976.76
B M i RARE L A 7] 10kV5425% E £k 35KV AL 1L 3l 10911.9 854.54
B M1 T P AR LA v 2 ] 10kv8aedm i 11 £k 110kV b A% il 6235.4 1817.02
VAN AR BT 10kV 8164 i £k 110KV AUPRAZ H vk 3204.3 288.04
B T AR B ik F 2 ) 10kV 8454 7 1145 110KV b KA il 10911.9 1506.02
B M i RV = 3o /A 10kV566/% 11 £k 35KV B e AL HL I 3117.7 108.96
B T AR B ik F 2 ) 10kV597 {27 1128 110kV € R H A2 Fe b 10911.9 6.02
AN ] P ACEL 2 ] 10kV8633 i V 5 £k 110KV Ui 171745 F 31l 10911.9 3341.77
A RACE LA F] 10kV553 2 % 2k 110kV & A A% 1 il 3983.7 69.86
VAN PARE L A 7] 10k V54405 12k 35KV AL L il 3117.7 536.66
A RACE LA 7] 10kV856 £k 110KV & A A% il 10911.9 836.02
VAR RARE L A 7] 10kV/593F- 41k £k 110KV £E R I AZ H 3 3117.7 3.56
B i A Bt F 2 ] 10kV 8645 5t 2k 110KV U5 [ 7% L 3 5196.2 584.96
VAR RV =3 /A 10kV 8344z it £ 110kV Jb G AL H il 3117.7 152.96
B M T [ 0 A% BL it A 7 10kv8393 i T £k 110KV b A% 1 il 10911.9 3723.02
A AR EL It L 10kV 8381 g £k 110kV Jb G AL H il 10911.9 1836.91
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FRY|  FREHHAT 554 7k CRET I et hanel L REE
B M i RARE LA R 10kV849-F- 41k £k 110kV b A HL vk 10911.9 2018.02
B T RIACE L A w] 10kV 838 7§ £k 110KV b A% il 10911.9 1512.71
B JH T PR BT 10kV592111 JiE £k 110kV 1E % AL HL ik 10911.9 103.22
Hr M T R4 EL A E 0 ] 10kV815%8k | 2k 110KV KA 1 il 10911.9 126.72
B M T RV =3 /A 10kV894 H [A] £k 110kV 1£ JZIH AL HL 10911.9 646.42
B 0 T AR B ik F 2 ) 10kV/ 55475 51 £k 110kV & A A% # il 10911.9 291.12
B M i PARE L A 7] 10kV 8434 Tl IV £k 110kV b F A i ¥ 4503.3 43.04
B M T PR E AR 10kV568 11 Al £k 35KV T e AL FL 3117.7 0
B M T MARE LR AR 10kV 893 K HE 2k 110kV 1£ AL L ik 10911.9 0
B ] T RACE LA 7] 10kV 8171t £k 110kV AR AL il 10911.9 0
B JH T RARE LR AR 10kV876.3 i VI 5 £k 110KV Ui 11725 F 35l 10911.9 0
A M i RIACE LA 7] 10kV5961%. 17 12% 110kV 1£ % MH AL 1 il 10911.9 0
B M i PR BT 10kV829K: W2 £k 110KV ZEPRAZ i 3 4503.3 0
e M T ] X £ EL A F 0 ] 10kV881/4 I 2k 110KV U5 [ 748 1 3 10911.9 0
B M T AR BT 10kV857 Iy /I [X £& 110kV & 42 HL il 10911.9 0
B M T R E AL AR 10kV547 T 42k 35KV T AR HL ol 4503.3 0
B M i RARE L A 7] 10kV534 [ 2k 35kV i [ AR HL 5022.9 0
A W AR LI L 2 ] 10kV813Fh A 2k 110kV A FRAR H il 10911.9 0
AN MARE LA T 10kV835/fE [ 1K 2k 110kV b <A HL vk 10911.9 0
A ARt A w] 10kV8337KHE) 2k 110kV b <A il 10911.9 0
B JH T (] [ £ B L 23 ] 10kV591 | 2k 110KV FE R I AZ H 3 6235.4 0
B M T MARE AR 10kV818H ph 2k 110KV A ARAL 31l 4503.3 0
VAR RARE LA T 10kV837 [ B £ 2 110kV b SR AZ i ¥ 10911.9 0
B M T RACE LA F] 10kV535/\ 52k 35KkV iHfE_b AR L 3117.7 0
B M T W e 28 EL AL ] 10kV874°F A 4 2k 35kV AR L 4156.9 526.02
e M T ] 5 28 ELfit B 2\ ] 10kV596 4 PR A £k 35KV Z= 1A% HL o 2598.1 2139.97
B M T W 28 EL AL ] 10kV547 I 1 2% 110kV 7E 247 HL vk 2598.1 2424.48




20254F (=ZFF) ML ERBEITHREE

B | FRAMEAT 4B 44T CRET I et hanel L REE
e M T ] g 28 B it i 23 ] 10kV8637 £k 110KV ¥ 341 A% HA, il 6096.8 645.14
B M T W 5E 8 B i 0 ] 10kV569 1% 12k 35kV B T4 L 10392.3 915.54
A ] e 28 B3k iy 23 W] 10kV87674 #1 £k 35KV 7% A2 L 8313.8 680.04
Br M T W 5 22 ELAH 1\ 10kV8474L 1t /) 2k 110KV iE 3848 H ik 2598.1 2454.28
B M T W] e 28 B ik g 2 W] 10kV5877% £ 2% 35KV Z= AR L 2598.1 731.48
e M T W 5 22 ELL B\ 10kV 696 41§, 7t 242k 35kV 4% 77 A2 L 10444.3 643.84
A ] e 28 Bt i A ] 10kV 8964 el T & 110k V i1 111 A% B 2598.1 1769.98
B M T W 5 22 FLAH L\ ] 10KV 853 F H £ 35KV 75 =A% HL 2598.1 2143.68
B T W 7 28 B ik it 23 ] 10kV 87914 31 & 35KV 7 16 A% L il 8313.8 1292.04
e M T W 5 %8 B i 20 ] 10kV563F -2k 35kV B 12 4% L3 2598.1 785.58
M M T W] e 28 B it iy 23 ] 10kV 546 # A+ 28 110KV & 3242 L i 4849.7 923.86
e M T W 5 38 B i 0 ] 10kV863£E X - £k 35KV FE X HE AL H i 2598.1 1454.98
A ] e 28 Bk i 23 ] 10kV881%: 11 2k 35KV % 18 A% il 5196.2 251.76
e M T W 5 22 ELA 1\ 10kV513 5 2% 35KV [ [ 4% HL i 2598.1 771.98
B M T ] e 28 Bk g 2 ] 10kV 8491/ B4k 110KV 7E %2 4% H ik 2598.1 1217.35
e M T W 5 22 ELAk 1\ 10kV 698174 #h 3 2% 35kV 4% 77 32 L 2598.1 1519.28
e M T W 7 38 Bt e 3 ) 10kV878 K7 2k 35KV % 18 A% il 4676.5 348
B M T W 5 3 L E 0 A 10kV 875% 18 £ 35KV % 1E A% Lk 8313.8 1082.04
B 7 W e 28 Bt it 23 10kV5454§ 7R 15 2k 110KV 7€ %2 A2 i vl 2598.1 1811.77
e M T W 5 %8 B i 20 ] 10kV 868X 5 ' £k 35KV 4 5K AR H il 2598.1 2332.48
e 0TI W] e 28 E ik i 23 ] 10kV5837% 11 2k 35KV Z= 1A% L il 4936.3 107.64
VgL W e 28 EL At i A ] 10kV813 4 12k 35KV [1] BH A% F 3 9006.7 1031.96
M M T ] g 28 B3t i 23 ] 10kV 6994 Ly VT £k 35kV 17 77 A& il 2598.1 327.98
B M T W 5 3 LA A A 10kV 58671 & £k 35KV 2= FE A% HL il 2598.1 1894.08
e T ] e 28 Bk g 23 W] 10kV5667 T 2k 35kV e 1A% HL 2598.1 1052.98
B M T W 5 3 L A A 10kV 5657 14 2k 110KV VAT 121 4% L 7828.9 892.32
B T ] e 28 Bk g 23 ] 10kV515i0 A £ 35KV [r] BH A% F i 4503.3 424.04
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FRT|  FRALEAT BT CRET I et hanel L REE
ViRAIi B 0 i F2 Bt e 10kV5634F & 2k 110KV i 121 A2 Fi, il 6096.8 2965.34
B 0 i | ] 5 28 B it 20 10kV806~% & £k 35kV 4% 75 AL HL il 8313.8 537.64
VAT [ 0 i F2 Bt s 10kV514%% 53 2% 35KV [a] BH A% L i 2598.1 463.98
Hr M T ] ) 5 98 H it e A 7] 10kV/548 52 5% 1) £& 110KV 7E %2745 H ik 6512.5 1450.5
ViRA N ] o s 2 Bt e 2 ) 10kV 694k 71 1 25 35kV 17 77 A& L ik 2598.1 48.68
Br M T ] ) 5 98 E it e A 7] 10kV5675% 3k £ 35KV B A% HL 2598.1 14.68
VipAe 0 Fe Bt e ) 10kV564 7 24 2k 110KV Vi 31 A% ik 6945.5 1760.6
e M T ] ) 5 5 E it e A 7] 10kV589% % £k 35KV 2= A% Ll 4503.3 137.74
B M T ] o 5 28 E it g 23 W] 10kV597 5 A 2% 35KV Z= AR L il 2598.1 2108.88
B 0 i | ] 5 28 Bt 20 ] 10kV573 A 2% 35kV ¥ 1A% HL 2598.1 310.58
VAT B 0 2 F2 Bt s N 10kV566 7 14k 110KV i 121 A% Hi, il 6945.5 1525.6
B i | ] 5 28 Bt 20 10kV5934 1L & 35KV 2= HE AR HL il 2598.1 422.48
VA [ 0 i 32 Bt s N 10kve634 2k 35KV A oK AR HL 2598.1 2255.98
B T [ A 5 28 EL it i 2\ ] 10kV 8145 5% - £k 35KV 5] BH A% H 4503.3 228.04
e M T ] o s 22 Bt 2 ) 10kV 864K I £k 35KV HE I AR HL i 2598.1 1626.06
Br M T ] ) 5 98 E it e A 7] 10kV 8455 H [114; 110KV 7 3¢ 4% f il 2598.1 1335.68
VA B o) i 2 Bt e N 10kV894 T 5% - £k 110KV 1] A2 L 3 4503.3 2659.04
Vg ] ) 5 98 E it e A 7] 10kV568%4= 5 £k 110KV ] 121 4% 3 6096.8 85.94
A [ 0 i F2 Bt e N 10kV 80574 ] 3k £ 35kV A7 75 AL HL ik 8313.8 0.04
B M T FE 0 e Fe B it i 3 ) 10kV803 % A1 £k 35KV 7 75 48 HL ik 8313.8 0.04
ViEAIi B 0 2 F2 Bt s 10kV867 £E [ 1# 4k 35KV A 5K AR HL 2598.1 0
B M T 0 Fe B it g 3 ) 10kV695 31§ 7t 1# £k 35kV 4% 75 AL HL il 2598.1 0
B M T [ 0 7 F2 Bt e N 10kV8951k K £k 110KV i 111 32 Hi il 2598.1 0
B M [ ) 5 2 L4t v 0 ] 10kV697 4 Ey ] 11 [ 2% 35kV 4% 75 AL HL il 2598.1 0
B M T 0] i F2 Bt e N ) 10kV 8483 %k 2'5 2% 110kV 72 F& 4% H vk 2598.1 0
e M T ] ) 5 98 H it e A 7] 10kV/568 B I £ 35kV B A% HL 2598.1 0
VA [ o) i F2 Bt e ) 10kV804/+ 112k 35kV 4% 75 AL Lk 8313.8 0
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ViRAIi P e 2 EL AL Ay ] 10kV 8584 5 E £k 35KV 75 AR HL 6945.5 0

B M T W g8 Bk et 3 7] 10kV553/) T A 2% 110KV 5 %8 4% H il 2598.1 0
ViFA N oA 2 IR LR H 0 ] 10kV5253C % 2% 35KV 4z Ll AL HL 5802.4 101.32
Hr M T o) 2 U LA F 0 10KV b ] $H 2k 913 110KV b ] 4% 3 10565.5 3531.96
e M T oA 2 e L it R 0 ] 10kV914 /5 X £k 110KV b ] A% L 35 10565.5 718.85
Br M T o) < 0 LI Fl A ] 10kV573K /R £ 110kV 7 5 A% F il 8313.8 395.99
VgL N oA 2 06 ELAHE H 0 ] 10kV 8303 #5 11 £& 110KV A7 Je A% L i 10565.5 2588.3
e M T o) 22 0 LA F A ] 10kV 833 K14 £k 110KV A Je A% 6581.8 365.44
B 0 i oA % IR LA F 0 ] 10kV916 X 2k 110KV i) A2 F, il 10911.9 772.88
e M T oA 45 Ul EL AR F 0 ] 10KV 4% B 24 873 110KV i 5% A% HL 6581.8 270.04
LA g Sy EL it 23 ) 10kV920 7K B Bk AT 2% 110kV b i A% L ik 10565.5 1520.3
B i oA ¢ e L fik B A ] 10kV833 2 5 I & 110KV /) i A% L 3 10565.5 367.8
VA o4 0 L3t e 20 ) 10kV5773, 11105 2k 110kV 7 5K A HL ik 10565.5 2760
e M T oA 2 0 LA F A 10kV871 7 el 2 110kV vt 5 A% F il 10565.5 1432.75
B M T g Z sy L3t 23 ) 10kV82934H 1 & 110kV 1 /84 HL vk 10565.5 2117.3
Br M T o) 2 U LI F A ] 10kV8131[1 i £k 110KV b ] A% 3 8920.1 1650.43
B 0 i oA 2 0 LR H 0 ] 10kV922 H1 % 11 [1] 45 110KV b ] A% L 3 10911.9 1275.82
Vg o) 22 0 LA F A ] 10kV 57851 £k 110kV v 5 A% H il 10565.5 1091.4
e M T PO 2 e L ik F A ] 10kV824 T #fi i 2k 110KV A7 1238 Hi ki 10911.9 586.11
B 0 i oA 4 e L fik R 2 ) 10kV593 /1 HE 2% 35KV i R AR H i 6581.8 114.04
ViEAIi o] Ui L it B 20 ) 10kV 8374 #5 IV 45 110KV A7 1238 Fi ki 6581.8 2060.99
B 0 i P04 ¢ e L fik B A ] 10kV 9108k M £k 110KV b ] A% 3 6581.8 757.64
B M T oA 2 e L3t B 0 ] 10kV5717H b 2k 110KV 7 5% A% HL 10565.5 1542
Hr M T o] 2 0 LA F A 10kV %% 5 £k 584 35KV A1 51 AL FL il 5802.4 96.72
LupAii g Z sy L it 23 ) 10kV 5574 i & 35kV & kAR L 5802.4 175.02
e M T VR 422 U EL AL Fi A ] 10kV 8437 4 11 £& 110KV 1 8 4% il 10565.5 3116.7
B T oA 2 IR LR H 0 ] 10KV 8263k 1 IT14: 110KV £ Je A% L3 10565.5 2200.7
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FRi|  FREHEAT BT CRET I et hanel L REE
ViFA N [ oA 2 e Lt R 20 ] 10kV834 K& 114 110KV /> T 38 F, il 10565.5 1491.8
B 0 i ] o) ¢ e L it R 0 ) 10kV534 K75 2k 110KV /) i A% H 3 10565.5 1482.5
B M T I o) sy L it 23 ) 10KV 8763 £ 115 £k 110KV T X A% HL 8920.1 815.98
B 1 i ] o] S5 e Bt R 0 ) 10kv875) 2k 110KV i 55 AL HL i 10565.5 648
e M T ] o 0 EL it e ) 10kV572 R a2k 110KV 7 5% A% L 2598.1 653.98
e M T ] o) 5 e L it Ef 2 ] 10kV #2526 872 110KV 7 5% AL HL i 8313.8 432.04
VgL N I oA 25 ey it Rl 0 ] 10kV8ALIHH V 45 110KV A7 Je A% L i 8920.1 1807.18
e M T FE] o) 42 e L it P 0 ] 10kV519AK % £k 110KV H 5 A% H sk 5802.4 182.72
B M T ] o sy L it e 2N ) 10kV921 b3 11 [m] £& 110KV i) A2 F, il 10565.5 2072.5
B 0 i ] oA 2 e L it R 20 ) 10kV 59641 £7: £ 35KV 1 R AR H i 4763.1 174.98
LA ] o sy BL it 23 ) 10kV 8403 £ VI 110kV 7 J5 4% HL ik 10565.5 1516.4
B T [ [0 0 EL it B 0 ) 10kV 524411 5 = 2k 35KV < L1 £ AL H i 10911.9 518.8
LupAii I o) 0y L it 23 ) 10kV563%4 Sk 2k 35kV A Sk AR HL 5802.4 444.62
B M T ] o) e LAt vl 2 ] 10kV816Hb 2K 1 714k 110KV b ] 4% 3 10565.5 2637.7
ViFL N I oA 25 ey L it Rl 20 ] 10kV919#b 7K 11 71 4 110KV b i) A% HL 10565.5 7.6
e M FE] o) 422 e L it P 0 ] 10kV5867K 5 £ 35KV {1 7R 3% Lk 10565.5 84
e M T ] o) sy L it O3 ) 10kV 536/ i £k 110KV /) 5 A% L 3 10565.5 387.8
A [ o] 0 EL 4k B 0 ] 10kV823Jf 3k 2k 110kV F 178 H il 6581.8 0.04
B M T ] o sy L it 23 ) 10kv835)t Ak 114k 110KV /> T 38 F il 10565.5 0
A ] o] 0 EL it B 0 ) 10kV817HBIAT IV [H] 2% 110KV b 7] A% 1 3 8920.1 0
B M T ] o sy BL it 23 ) 10kV5316AR 1 45 110kV /) i A% L il 2598.1 0
B 0 i ] o) 2 e L it R 0 ) 10kV532R AT £k 110KV /) i A% H 3 8920.1 0
LupAii [ o) Sy L it 2N ) 10kV877 5 [ 2k 110kV 7 X A HL ik 10565.5 0
B 1 i ] g iy L it r 20 ) 10kv849 fif 3k 11 [F1 £k 110KV 1 A% 1 il 10565.5 0
LupAii ] o 0y L it R 23 ) 10kVe11H A T 48 110kV H SR AZ H vk 8920.1 0
B i [ o) Ui L 3t B 0 ] 10kVe12'H A 11k 110KV H SR A H ik 8920.1 0
B M T ] o sy L it 23 ) 10kV842K V4 1145 110kV 1 /84 HL vk 6581.8 0
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ViRAIi 4 0 EL 3t e 20 ] 10kVIR 49 5 £k579 110kV 7 5K A HL ik 10565.5 0

B T WA ¥] i it R 2 ] 10kV833£E R IR 2k 110KV 32 7% H 6755 1665.2
ViFA N g o] i EL it 23 ) 10kV5737i] Iy 2% 35kV IH AR H ik 4416.7 210.06
Hr M T oA T L AR E 0 ] 10kV/ 55947 31 2& 35kV K U 3% FL i 2598.1 426.18
ViRA N g o] i EL it R 23 ) 10kV533/H K 2> 110KV 3L AL H il 2598.1 1555.98
B 1 T A V] Bt R 20 ] 10kV544 1| 2% 35KV 51 €A% HL 4416.7 113.66
VgL N g o] i EL it R 23 ) 10kV 5681 5 4 £k 35kV YD IR AL HL i 6235.4 96.02
B 0 17 oA YT iy L it E A ] 10kV566i8X 55 V4] £& 35KV b 51 A% Lk 10911.9 104.02
iR o o] i EL it 23 ) 10kV5777b P2 35kV IHE AR HL ik 7794.2 148.16
B 0 i V] i Bt R 2 ] 10kV 876 FL 1L IR £k 110KV % FAZ L 3 10911.9 246.62
B M T g o] i EL it R 23 ) 10kV 5567 7 2% 35kV KU AR HL i 2598.1 300.13
B i AT i Bt R 2 ] 10kV54741 2 i 2% 35kV B FEAR L il 10911.9 264.02
ViFL N g o] i EL it R 23 ) 10kV 5343 17 3#4% 110KV 3 2E A8 i il 2598.1 2278.96
VA }A] ] L A i 0 10k V580 i1 £ 35KV |H B A% H ik 7794.2 340.96
B M T g o] i EL it R 23 10kV554 7 14 £ 35kV R IR AR HL ik 6755 144.1
Br M T oA 3 g LA E 0 ] 10kV 57437 58 2 35kV [H-H 32 i 7794.2 219.06
B 0 i g o] i EL it R 23 ) 10kV8785 th 2k 110KV & FE AR H il 10565.5 149.2
Vg o i gl LA F A 10kV529 7] [X 1 [1] £& 110KV 3278 H 4676.5 22.3
B M T o iy Bk F 2 ] 10kv8374L Tt 2k 110KV 3 2E A8 i il 2598.1 1005.02
B 0 T V] i B it R 2 ] 10kV557 7K -2 35KV KU AZ H il 4936.3 119.54
B M T o o] i EL it R 2N ) 10kV/543 8 [iH] 28 35KV FLFEAR HL i 10911.9 170.62
B 0 i WA ¥] i ik R 20 ] 10kV 5325 J1 £k 110KV 3CZE7AZ H 2598.1 1471.02
ViFA N g o] i EL it 23 ) 10kV545+ ¥4 £ 35KV 1 ZE AR Lk 10911.9 158.32
B 1 i ] i B it R 20 ] 10kV567K 5 )11 2k 35kV VD IR AR HL il 7794.2 663.96
ViFA N g o] i EL it 23 ) 10kv835fE [X T [m]Zk 110KV 3L AL H ik 2598.1 54.78
B 1 Tl g ] it B it R 23 ) 10kV598%5 F L £k 110KV FE[FFAZ il 8608.3 0.04
B M T g o] i EL it R 23 ) 10kV 83931 17 6# 4k 110kV S AR HL vk 2598.1 0
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ViFA N ] o o] L it 2N ) 10kV599+1 F: 2k 110kV FE BEAE 1 3l 7794.2 0
B M T ] o e ot L it R 2 ) 10kV 5461 373 2k 35kV B FEAR L il 10911.9 0
B JH T ] o 9 by L3 fL 2 ] 10kV834Vb I £k 110kV S AR HL vk 7794.2 0
1 M T3 ] o ] gl Lt B 0 ) 10kV873=F th 2k 110KV I8 FLAE L 10911.9 0
ViRA N ] o o] L it R 23 ) 10kV5363 1T 45 £& 110KV 3L AL H il 10738.7 0
A M ] o o] ot L it R 2 ) 10kV5534 JL R 2k 35kV R AR FL il 6755 0
B JH T ] o by L3 fL 2 ] 10kV 8384, 117 5# 4k 110kV S AR HL vk 9595.6 0
B M T I A9t it R 2 ) 10kV 874 il It 2 110KV % FAAZ 1 3 7794.2 0
iR (] o o] L it R 2N ) 10kV563 [ 15 2k 35KV b SR AR L 6235.4 0
B 0 i ] oA A it R 0 ) 10kV8713 il V £& 110KV 4R - #1 4% H 3 10911.9 2794.92
VAT B o i o B it N 10kV554A JIK L1 2k 110KV H HE A2 Hi il 10911.9 356.22
B i I oA A it R 0 ) 10kV 823+ [ 2k 35KV At SR AR FL 10911.9 307.27
ViFL N I o i o B it N 10kV533 75 e HE 2k 35kV K 2 AL L 10911.9 620.38
B M FE] [0 5 o L it F 0 ] 10kV8322 ¥ 2k 35kV FE oK 22 AL FL 10911.9 501.11
B M T I o i SR B it N 10kV 8723 7 AL TR 2% 110KV 4R - i A% L 3 10911.9 2192.59
B 0 T [ oA e o L it R 0 ) 10kV 8764 T £& 110kV 5~ #hA% F il 10911.9 1287.92
B 0 i I o i o B it N 10kV 85411 PH £k 110KV H1 AR L3 10911.9 204.72
Vg ] ] B Lt e A ] 10kV877-F i 2k 110KV 4 5~ #h A% FE il 10911.9 1122.75
e M T B o i o B it N 10kV833 0 5K 2k 35kV K AL L 10911.9 210.02
B 0 i RN e R = X S/ 10kV855 X % £k 110KV H1 FEAZ 3 10911.9 362.72
ViEAIi B o i o B it N 10kV526% ) F 2k 35KV A A AL HL 10911.9 1029.06
B 0 i I oA A it R 0 ) 10kV5557; I 2% 110KV H1 FEAZ 3 10911.9 216.52
ViFA N B o i o B i N 10kV 5723 17 IV £¢ 110kV 4R 5~ F#H A L ik 10911.9 3304.72
B M FE] [0 5 o Lt H 0 ) 10kV575/NA 1 T 2k 110KV 4 A% H il 10911.9 938.79
LupAii I o i o B it N 10kV 5743 7 TT14% 110KV 4R i A% L3 9526.3 4147
B M T3 ] X i o Lt L N ) 10kv874 /)N I 11 2k 110kV A% F il 6062.2 247.56
B T I o i o B it N 10kV 52541 2 35KV A A AR HL 8192.6 0
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B M T P i o L it N 10kV 824 2 2% 35KkV AL SRS AR H il 8192.6 0

B 1 i P R Bt s A T 10kV524-7 LV & 35KV At SR AR FL 10911.9 0

B M T W i o L it N ) 10kV573:5 N HE 2 110KV 4R - i A% L3 10911.9 0

B M o e o EL 4L B ] 10kV 87831 7 B ¥ £k 110KV A~ fHA% F il 10911.9 0

B M T g 5 L it L N 10kV564 K F 2 28 110kV AR K FE AL HL vk 4070.3 782.84
B 0 T A i L it B A ] 10kV 5634 X V4 £ 110KV 4 55 F8 78 HL iy 4035.7 296.46
B M T W 5 e L it R N 10kV52278 ¥ 152 110KV i PEAE H 3il 6062.2 2519.76
B 1 T W B it R 2 10kV823 Kl £k 110KV Ji5 FFAZ H 3 10565.5 286.8
B M T W 5 B it L N 10kV822) " M el 15 £k 110KV Jiti 38 i il 6062.2 715.96
B 0 i ] oA e Bt R A ) 10kV5033 1t 2% 35KV, I AL H bl (AF ) 10565.5 365.4
LA [ ) A LA L ] 10kV51174 1] 2% 35KVl K AL HEL il (R} L) 4035.7 531.36
B i ] oA e Bt R A ) 10kV510% /= it £& 35KV, 5 AL H bl (AF ) 4035.7 458.26
ViFL N g 5 e L it 2 10kV566 KT 2% 110kV AR K FE AL H ik 6322 1077.9
e M T WAt LA H 20 ] 10kV/565 75 4 2% 110KV % 55 F8748 HL iy 10565.5 599.85
B M T W v L it R 2N 10kV82174: 34 15 2% 110KV i PFAZ 1 3k 6062.2 3075.56
B 1 T W B it R Y 10kV 521 FH BF 2 110KV Ji5 FFAZ H 5196.2 410.36
B 0 i g 5 e EL it R N 10kV 8241 HL A 2k 110KV i PEAE H 3il 4035.7 568.76
Vg WAt o LA H 20 ] 10kV 5053k 7R £k 35KV 9% A8 L il (R ) 10565.5 2122.4
B M T P R S LA R 2 ] 10kV504%% )1 2k 35KVl kAL FEL il (R L) 10963.9 41.12
A I 90 LA R ] 10kV50874 )11 £k 35KV A H ik (R} ) 3637.3 0.04
ViFL N W 5 e L it LN 10kV/595 1t 5 it £ 35KV B ] AL H i 10911.9 0.02
B M T W 5 it 2 10kV574% 5 - 2k 110kV 7R 5K FE 7% H1 il 10565.5 0
ViFA N W 5 el L it R N 10kV 5947 -] £k 35KV S ] AL H i 4035.7 0
e T W A S EL A FR A ] 10kV573R K FE Lk 110kV 7R 5K FE 7% 1 il 4035.7 0
ViFA N W i B it R 2N 10kV593 K fh. 2k 35KV B ] AL H i 4035.7 0

B M P i e L it L ] 10kV 50745 F} £k 35KV 5k AL A il (R ) 4035.7 0

B T W 5 L it R N 10kV 523 FH i 15 2k 110KV Jifi BEAE 1 3l 4035.7 0
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ViFA N [ AEvE = X 3: /A 10kV/509 L B[ 5 2k 110kV 5 48 HL vk 10565.5 2.1
B 0 i W 7 B it e 2 ] 10kV 935 Hi X £k JT- 2% 35KV i 5% HE AR FL 6980.2 450.96
ViFA N g B it 3 ) 10kV548 7% Ax 2k 110KV #< FEAE 1 il 7776.9 537.62
Hr M T W = LA F A 10kV 8107 MH 3k 11 [71 2k 110KV B FE A% 10565.5 76.2
B M T [ REvE = X3z /A 10kV564F% [ 2% 110kV 7* A HL vk 4763.1 262.38
Br M T ] < i LA H 0 ] 10kV i 111 2 546 110KV 7R F& 4% il 7776.9 392.52
VgL N g 7 i it N 10kVv588 KU JEL T [H1 2k 110kV 7 AL L 8920.1 4411.83
e M T o 7 L ik R A ] 10kV544 < 78 | [ 45 110KV 7R ZE7% 12124.4 495.62
A [ REvE = X5 3: /A 10kV536 4L T [H1 2k 35kV A4 AL T AR HL 10565.5 505.98
B 0 i W 7 BB it 2 ] 10kV585=— =% 110kV T U AZ L 10565.5 1339.1
B M T [ AEvE = R g: /A 10kV 5041 5K HE 2k 110kV 5K AR HL 10565.5 586
B i W 7 B it R 2 ] 10kV58304 V4 2 110KV 7 U AZ HL 10565.5 197.9
ViFL N [ SATEVE S X3z /A 10kVv562 T 4 11 [nl 2 110kV 7 A HL ki 10565.5 3568.44
e M T o < R LA H 0 ] 10kV5354k Pl 2k 35KV A AL T AR H i 11604.7 511.96
B M T [ AEvE = X3z /A 10kV936 1 7R LT K 35KV i oK AR HL 4763.1 114.89
B M o 5 LAt B 0 ] 10kv847 ZR A4 11 [l ¢ 110kV 7 & 48 H il 10565.5 176.4
B 0 i [ REvE = X3z /A 10kVv595 X &L 1T =1 2k 110kV 7 AL L 4763.1 2367.98
Vg ] < R LA H 0 ] 10kV5344t, T 35kV 1, Ik T AR F il 7776.9 491.01
B 7 [ AEvE = X6 3: /A 10kVv561 7 4 T [Al 2k 110KV T* A8 HA il 10565.5 5006.6
B 0 i W 7 B it 2 ] 10kV50874 7 2k 110KV P 55 3 A% L 10565.5 441.9
B M T g 3 B it N 10kV5864% -2k 110kV 7 04 HL ok 7776.9 997.9
A W 7 B it A ] 10kV5947 PH £ 110kV T U AZ HL 6703 639.2
ViFA N g 3 B it N ) 10kV547°K Jii 28 110kV 7R Z8 4% HL il 7776.9 176.42
Hr M T o 7 i L ik R A 10kV539 1L I 11 7] 4k 35KV A AL T AR H 10565.5 127
LupAii [ ATEVE S X3z /A 10kV 934§ PRI % 35KV i oK AR HL 6980.2 349.95
e M T o 7 L ik R A ] 10kV844 Z< 78 11 [ £& 110KV 7R F&4% 1 il 12124.4 1151.62
B T [ REvE = X3z /A 10kV 933§ K L IT % 35KV i 2% AR HL 4763.1 374.98
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ViFA N [ AEvE = X 3: /A 10kVv593 RUELIIT 7] 2 110kV 7 B AE HL ki 10565.5 6069.1
B 0 i W 7 B it e 2 ] 10kV80941 FH 3k T Al £k 110KV B FE A% L i 10565.5 5.7
ViFA N g B it 3 ) 10kV567 5] /I [X £ 110kV 7 #0AE HL ik 10911.9 462.82
B M g 5 i EL ik B ] 10kV811 B FR AR TMIIMI 2k | 110KV fi 5 3 A% Fe iy 10565.5 0.2
ViRA N B g B it N 10kV812 B ZX B8 T [MIZk | 110KV ¥ 5K AR H il 10565.5 0.1
B 0 T ] 7 L it B A ] 10kV507 B X B8 T M2k | 110KV ¥ 5 A8 FL 10565.5 0.1

B JH T W LA L ] 10kV589 7 HE £k 110kV 7* A HL ki 5854.3 0

B 1 T RS AEve = X i ge /A 10kV509 3 T [H] 2k 110KV P 5 AR Ly 6703 0
A [ REvE = X5 3: /A 10kV810#E 3 11 [m] 2 110KV f# 5K AR HL 11570.1 0

B 0 i oA g < B it B 2 ] 10kV 516 HEARER L IR 28 35KV 2 5 IR HL 6928.2 4.16
B M T P fis 5% L A1 v 28 ] 10kV564 /] K FE 4k 35KkV 3 5 FE AL HL ik 3983.7 202.26
B i oA g < B it R 2 ) 10kV881/KIE ) £k 110KV i %A% L 3 5196.2 571.66
B JH T 0 i o5 EL it L 23 10kV 586K Ui FF 2k 110k V fhi < A% L ki 7967.4 456.82
e M T oA g 5 L ik B A ] 10kV 8054 £ ¥ £& 35KV 77 3% H i 6062.2 118.96
B M T o i o5 L it L 23 ) 10kV525K b2k 35kV B SIS AR HL b 7967.4 63.32
Br M T I} i o LA H 20 ] 10kv883 Tk 2k 110KV fli K A% F il 9439.7 616.66
B 0 i o fii o5 EL it L 23 ) 10kV565 0 K & 2k 35kV /3 X HEAL L 4676.5 80.9
Vg oA s 6 LA F A ] 10kV886 i i 1T [H] £k 110KV fi < A% il 4676.5 1624.6
B 7 o i o5 EL it L2 10kV889 Fiif 7% 11 £k 110KV i 5% A2 F, vl 8313.8 1569.53
B 0 i oA g < L ik R 2 ) 10kV804 ¥ It 2 35KV 77 3% H il 4676.5 218.5
B M T 0 i o5 L it L 23 ) 10kV 52447 5 Uik 2k 35kV HE LI AR HL b 5196.2 151.96
B 0 i oA g < B it B 2 ) 10kV585%k | 2k 110KV i %A% L 3 9439.7 1924.56
ViFA N 9 fi o5 EL it L 23 10kV 8843, X P £k 110Kk V fhi < A% L ki 7967.4 1988.62
Hr M T oA i o EL A H 20 =] 10kV806E & £k 35kV 77 IR AR HL 4676.5 289.6
LupAii o i o5 L it L 23 ) 10kV527 1 X UE AR 2k 35KV 2 T 3G AR H 7967.4 0.02
B M T3 oA i o LA H 20 ] 10kV51452 G 38 2% 35KV 4 5 5 AR H il 2598.1 0

B M T o i o L it L 23 ) 10kV526 R UEFE 1R 28 35kV B SR AR HLh 9439.7 0
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ViRAIi ] 19X 55 L A1 v 8 ] 10k V5834 5% %< 2k 110Kk V fh A% HL il 3290.9 0
ViAIi] ] o4 gl oK L it R 2 ) 10kV882_ Ly P £k 110KV fii A% L il 4676.5 0
ViFA N I o i o L it L 23 ) 10kV563 3 it £k 35kV /3 X &AL LU 5196.2 0
B M ] o g o L it F 2 ) 10kV 5135 ML 2k 35kV 2 SR FL 6062.2 0
B M T ] o i o L it R 23 ) 10kv891 Tl 11 £k 110KV i 7% A2 L 3 7621 0
B 4 i FE] I g > L it B A ] 10kV584 il 7R £ 110KV i & A% L 33 7967.4 0
VipAe ] o fi o L it R 23 ) 10kV/ 8034 5% £k 35KV 77 S AL HL il 9439.7 0
e M T ] oA 5 L it R 2 ] 10kV8077K SR £k 35KV 75 3% H ik 5889 0
e M T ] o el L 3t R 20 ) 10kV809 f¢ SR V [nl £ 110kV ZR i1 4% H ik 2598.1 1573.85
B 0 i ] oA ot Bt R 0 ) 10kV507 K F H: 28 110KV 7R 781 4% 3 2598.1 1351.48
VAT ] o el L 4t R 20 ) 10kV535K 4T 2% 35kV J\ AR HL 3031.1 155.98
B i ] oA o it Bt R 0 ) 10kV537Hk M 2% 35kV J\ AL HL 4113.6 180.98
VA ] o el L 3t R 2 ) 10kV528 % SR 11 [a] 25 35KV I AL HL 4113.6 2064.48
e M T FE] o6 o 3t L it F A ] 10kV505 4% FE F- AR 4k 110KV 7R T8 4% 3 2598.1 6.08
B M T ] o el L 3t R ) 10kV53655 212k 35kV J\ ff1 4% HL ik 3031.1 271.98
e M T FE] [e3) e s it e, A ] 10kV 5345 B 2 35kV J\ f 3% HL 2598.1 599.88
Br M T ] oA oyt Lt H A ) 10kV509774 1 £ 110KV 4R 151 4% H 2598.1 994.48
B M T FE] o) e s it e, A ] 10kV/ 52737 U4 28 35kV I, 5% 38 FL i 4156.9 331.57
B M T ] o oyt Lt P 2 ) 10kV807 7R Ut s fR 2k 110kV 7R i1 A% H ok 3464.1 0
A M i ] 0 ot L 3 H 0 ] 10kV/806 FH 15 R £k 110KV 7R i1 A% il 2598.1 0
ViEAIi ] o el L 3t R 20 ) 10kV506 /\ fi1 Yt £R 2k 110KV AR ¥4 32 Fi, il 2598.1 0
A ] o ol L it R 2 ) 10kV529 /¢ S 1[m] £k 35KV 31 AR L il 4156.9 0
B M T ] o el L 3t R 2 ) 10kV8084% -2k 110KV AR J# 32 Hi, il 3637.3 0
B 1 i ] oA ot Bt R 0 ) 10kV525/NFE £k 35KV I 5 AL HL il 2598.1 0
LupAii ] o el L 3t R 2 ) 10kV 82647 X 3 £k 35KV 4 K AL HL 2598.1 0
A M ] P ot L 3 H 0 ) 10kV504 3% T [Fl 2k 110KV 4R I8 742 HL il 2598.1 0
B M T ] o A it it F 2 ) 10kV511 X FH 2% 110KV 7R i1 A% HL vk 2598.1 0
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B M T M1 Bt A E 10kV 8487t 4 11 £; 110KV P A+ A2 Hi, il 9786.1 4777.8
B T W 16 Bt A 10kV 56376 48 2k 35KV Ti. & L1 AR H i 8660.3 12.94
B M T W1 Bt A a] 10kV 8453 1 2k 35KV A AR L 8313.8 159.89
Hr M T W 1 & B B 0 ] 10kV525 %16 2% 110KV 7R 16 748 H 9786.1 2583.88
B M T W T Bt A 10kV851 7 Ik £& 110KV 7 A% L 3 7707.6 564.28
Br M T W & Bk B A 10kV 873X 7 <7 4% 35kV A Jb 38 FRL 3 6928.2 852.56
iR M T Bt A w 10kV533%ii K 114k 110KV i A+ A2 L 3 8920.1 3831.13
B 1 T FIR=E =3 /A 10kV546F7 72 11 28 35kV #3748 HL 7707.6 323.73
iR M Bt A 10kV 8634/ i V4 £ 110KV <5 < A% L 7707.6 3745.38
B 0 i FR=E =3 R/A 10kV54874 74 T 2% 110KV 75 5 A% 3 9786.1 2560.58
iR M T Bt A E 10kV 884KV TIH £k 35kV [T PR A7 AL HL 9006.7 1427.96
B i CFIR=E =3 R/A 10kV557 M4 FE 2% 110KV 7 A% H 9786.1 1144.28
iR P Bt A ] 10kV 86147 MH £k 110kV < b 4 A% L ik 7707.6 3500.18
e M T W T & B B A 10kV 8834 <] i £& 35KV ] B A7 AL H i 6581.8 426.04
iR W T Bt E] 10kV876 K FH ¥A & 35KV i) b A% L 8660.3 252.7
Br M T W & B B 0 F] 10kV 8475 I 2k 110KV 75 A5 A% 3 7707.6 2487.18
B M T M T Bt A 10kV 54415 4% 24 110KV PG A A2 L 3 7707.6 329.18
Vg W 1. & B B 0 ] 10kV564 5 M2k 35kV 1. 65 L AR FL vl 9006.7 2251.23
B M T W1 Bt A w] 10kV 8264k % £k 110kV 7R {3 42 HL ok 5802.4 312.22
B 0 i CFR=E =3 R/A 10kV824FH 4 £k 110KV ZR 16 748 H 6928.2 1710.26
iR PTG Bt A 10kV 546357 4 2k 110KV P8 A+ A2 Hi, ki 6581.8 603.07
A FIR=E =3 R/A 10kV 551401 B £k 110KV 7 A% H 7707.6 746.88
iR M T Bt A E 10kV 86671 H il £k 110kV < b 4 A% L ik 3204.3 445.84
B 0 T W & Bt A 10kV861 1 i 11 £; 35kV 1. & L1 AR H i 4763.1 3036.48
LupAii W T Bt w] 10kV5347 % 2% 110KV 45 A A2 HL vk 4763.1 258.68
B 0 T W & E it B A 10kV 864 5 £1 i £& 110KV 4 (<1 2 A Ly 7707.6 1748.88
iR W T Bt A 10kVv537-1 gLk 110KV i A+ A% L 3 9006.7 1119.76
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B M T M1 Bt A E 10kV545F4 [ 12k 110KV P A+ A2 Hi, il 7707.6 3958.91
B 0 i W 16 Bt A 10kV 827 5t I 48 110KV ZR 16 742 H 6581.8 1387.34
B M T W1 Bt A a] 10kV8757K i) £k 35KV i) b A% L ik 10080.5 718.9
Br M T W 6 B E A A 10kV/5384i K £k 110KV %ii A5 4% i 6581.8 263.34
B M T W T Bt A 10kV852 % 55 £k 110KV 3 A H vk 9786.1 194.77
e M T W 6 BB A A 10kV885= 7 £k 35kV [T PR A7 AR FL 3897.1 106.48
B M T M T Bt A w 10kV543 7 gt 111 2% 35kV #IAL L 9006.7 423.56
B M T W 6 B E A A 10kV56541 fifl 2% 35kV Ti. £ L1 AR H i 7707.6 3371.9
B M T M Bt A 10kV 8194 i 11 £& 110KV R 163 32 Hi, ki 4849.7 634.66
B 0 i FR=E =3 R/A 10kV 829k K72k 110KV ZR 16 4% H 6581.8 1128.34
LA IR E=S i A 10kV56757 7% b 2k 35kV T 5 LA HL ik 8660.3 0.04
B 1 i CFIR=E =3 R/A 10kV 8745k H <F 2k 35KV ] 638 il 3810.5 0
LupAii P Bt A ] 10kV 849 I, 11 £& 110kV P4 A A% L il 9786.1 0
B M T RE =R =T /A 10kV8867% 12k 35kV [T PR A7 AR FL 3897.1 0
B M T W T Bt E] 10kV53574f 3 £k 110KV Zii A A2 HL 7707.6 0
A M T RSS2 /A 10kV831%:iA 114k 110kV AR 1A 78 HL ik 7707.6 0
e M T M T Bt A 10kV863 5 11 11 £k 35kV T & 1L AR HL 6928.2 0
B 1 Tl RS2 /A 10kV5495T 3 T 2k 110KV 74 A4 A% B il 9786.1 0
B M T N IR=E =3 /A 10kV 52741 i 2 110KV AR 1332 Fi ki 7707.6 0
B 0 T CFR=E =3 R/A 10kV519% % 11 4% 110KV 7R 36 4% il 7707.6 0
iR PTG Bt A 10kv556 Tl T 28 110kV 3 42 HL ki 9786.1 0
B 0 i FIR=E =3 R/A 10kV54541 111 £ 35kV #4748 HL 6581.8 0
iR M T Bt A E 10kV 8515 5 2k 110KV V5 A+ A2 Hi, il 7707.6 0
B 1 i FR=E =35 e /A 10kV 83274 % [114; 110KV 7R 36 4% # il 9006.7 0
LupAii W T Bt w] 10kV 846K 1 2k 35kV LATAR HL b 4763.1 0
B i W T B A ] 10kv8s3 Tl 11 £k 110KV 3 1A% H ik 9786.1 0
iR W T Bt A 10kV 5684 £k V4 £k 110KV <5 < A% L3 7707.6 0
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B M T B P T g Bt s N 10kV565 FE R 1A £& 35kV HE 55 AL HL 9560.9 4.82
B 0 i ] o) .58 B it R 0 ) 10kV 896 &l V4 £ 110KV F1. Z& 748 H 10444.3 846.54
B M T B REE $5 %6 /A 10kV5973 i1 11 £k 110KV T1 F&4% H ik 8746.9 3994.87
B 0 T [ o) 7. 9 L it m A ) 10kV8994 7 V' [1] £& 110KV F1. Z&74% H 8712.2 2849.66
B M T [ o) T g8 Bt e N ) 10kV 79947 5 & 35KV 5 Z AR AL HL 9560.9 53.22
Br M T ] ) 1. 25 E it e A 7] 10kV 8984 i 111 1] £& 110KV F1. Z& 7% Hk 8712.2 2722.1
iR ] [ 7 S e ] 10kV 56637 7€ £k 35kV HE 55 AL HL i 8954.7 527.95
B 0 17 ] ) 7. 9 B it m 0 ] 10kV569 7% ZE £k 35KV FE 55 A% Lk 8954.7 139.96
iR B 0 T8 Bt s N 10kV563 AR T [ml2k 35kV HE B3 AL HL 9578.2 476.51
B 0 i ] o) 1.7 B it e 20 ] 10kV'793 F Hi - 28 35KV 5 AR FL 5196.2 346.96
iR B ) T8 Bt s N 10kV567 =7 £k 35kV HE 55 AL HL i 9560.9 83.02
B i ] ) 1.7 B it R 20 ) 10kV 59434k 17 1 [] £& 110KV F1. Z€ 7% H 8712.2 2129.43
iR [ 0 T8 Bt g N ) 10kV 8943 Ti7 IV [l £k 110kV 11 5878 HL ki 8712.2 3399.63
e M T ] ) 1 2 E it e A 7] 10kV554%1 5 2% 110kV = 7 4% H 3 10911.9 404.82
e M T ] o) g8 Bt e 4 ) 10k V59615 - 3 £& 110KV T %8725 ik 10444.3 0
B M EIEERE $=% 3 A 10kV7974= 5% H: 2k 35KV 5 AR FL 9560.9 0
B M T o) T8 Bt e N ) 10kV852F: 1 £k 110KV = 7% 48 H 8954.7 0
P T W .28 Lt A A 10kV 8514911 7m] 2% 110kV = 72 25 F 10444.3 0

e M T ] 9 28 EL i L ] 10kV553#% 5% 111 £k 110kV = 7 A% FL i 10444.3 0
B M T P o) T g B it g 3 ) 10kV 794 3 2% 35KV i ZRE AR HL il 4503.3 0
A JH T ] ) g Ll v A ] 10kV 595 3 £k 110kV T 4% F 3 9197.2 0
B 0 i ] o) 1.7 B it e 20 ] 10kV 8954 5K FF £k 110kV F1. Z&74% H 10444.3 0
7 g 7 EWWMWE%B&%@ 10kV5120 7 55 & 110KV 1 JH 2% L i 7794.2 1792.96
1 i EMWM%EWE&%& 10kV87675 5% 11 2% 110KV 2 45 FiL b 10565.5 608.89
1 7T Emﬁmmgﬁgﬁﬂﬁ 10kV93545 24 35KV 45 4 A8 1 10998.5 1592
1 i EMWM%EWZ&%& 10kV5748E 0T | £ 110KV J7 4 75 H 3 10392.3 25.44
B M T EWWWWT%B&@@ 10kV5125 7K 28 110KV H= J% A% H ki 6581.8 143.64
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g | BT Fﬁ?ﬁ X pra s 10kV877 4% I 4E L% 35KV iz % A5 i 3810.5 309.2
B T gkl Fﬁgﬁ gtz | 10kvsazfi I;H HEEI 110k V B A A2 HEL il 8573.7 1004.36
gy | PO ?ﬁ Xtz 10kV 8764 2 2 35KV iz % A5 i 3 10998.5 859.5
gy | PRI gﬁ X n 10kV 5743+ 2% 35KV B2 A7 7863.5 744.2
pgr | AT rgﬁ X pera s 10kV518% 1125 110KV 33k, P 5 HpL 3 10565.5 460.8
gy | I ﬂﬂ)%ﬁ? X n 10kV5375¢ [ 4% 110KV F A+ 25 H 3 8746.9 251.62
g | BT Eﬁ X pra s 10kV5364% 1] 2% 35KV 4 1145 Hi 3 6581.8 259.84
gy | I Fﬁgﬁ s 10kV516/1 = 2% 110KV i FE5 25 H 3 6581.8 8.4
ppir | PP Eﬁ s 10kVS6aFiiH 1 4 110KV 4% B A5 i 3 8573.7 154.96
pigr | I ﬁﬂ%ﬁ X2 10kV519F] B T 2% 110KV 17 4125 H 3 7794.2 1429.96
gy | PP Uﬁjj}ﬁ X pra s 10KV 81218 57 25 110KV 17 #4125 1 3 7794.2 1638.95
pg | I Fﬁgﬁ X2 10kV507 2 1 1145 110KV LA 25 HL 3 8573.7 622.16
gy | PO ?ﬁ ORBZA | gokvsasgsiae® 1 4 | 110KV AR S 3 8573.7 193.26
gy | I Fﬁgﬁ X n 10kV 933 K 2% 35KV 45 4 A8 L 6928.2 1203.74
gy | PO rgﬁ X prra s 10KV 845K 14 110KV 5 545 H 3 8573.7 3678.36
gy | PP rgjﬁ ABA | jovs20 i I 14 110KV F A+ 25 H 3 7794.2 3048.86
g | EETH Fﬁ'rgﬁ X pera s 10KV 538744 1 2% 35KV 4 1145 Hi 3 7863.5 114.8
gy | I Fﬁgﬁ X n 10kV 8283 17 85 £ 110KV 35 7 25 H 3 7794.2 291.26
g | AP Eﬁ X pra s 10kV51818 1145 110kV HIAT A5 Fi 3 7794.2 1823.16
pigr | A ﬂﬂ%ﬁ? X2 10kV5434- 9 35KV S AR HL v 10998.5 543.48
gy | PO rgﬁ X prra s 10kV 50818 18 2 110kV HIAT A5 Fi 3 8573.7 1189.96
g | I ﬂﬂ%ﬁ? X2 10kV888HI S5 1 2% 110KV 3% W45 H 3 8573.7 637.16
per | BT J""Fﬁ'?ﬁ XORBA | Joevsz ol B 14 | 110kv R A 5715.8 503.54
gy | PRI Fﬁgﬁ s 10kV564/1+f 5 FE 2 35KV =2 A8 HL i 8660.3 110.84
g | T Fﬁ'rgﬁ Xt 10kV553Jf 2 2 110kV 5 B A45 Hi s 10998.5 572.5
ey | PP gﬁ AR | qovsiam A T 4 110KV F A+ 25 H 3 7794.2 2263.96
gy | P IPTH D Bt 24 10kV5224E T [ 2% 110KV 4k % 45 Fi 3 7863.5 496.29
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g | BT Fﬁ?ﬁ X pra s 10kV834/5 fL 4 110KV /5 EF 45 H 7794.2 2085.36
pgr | A Fﬁgﬁ AR | qorvs27 i 1T 14 110KV LA 25 HL 3 7794.2 4634.76
ppr | BT Fﬁ'rgﬁ Xtz 10KV 634 % 1 4 35KV 46 A5 H b 6581.8 1185.64
gy | PRI gﬁ X n 10kV511f 111 2% 110KV 117 25 H 3 7794.2 512.96
pgr | AT rgﬁ Xtz 10kV544 %% s 11 2% 110k AT A5 Fi 3 8746.9 721.82
gy | I ﬂﬂ)%ﬁ? X n 10kV811H5 117 45 2 110KV 117 25 H 3 7794.2 2899.96
g | BT Fﬁ'rgﬁ S o BTV S 110KV 7 545 H 3 11258.3 921.14
gy | I Fﬁgﬁ s 10kV57571 34 1 2% 110KV JF 4 25 H 3 7794.2 3393.46
ppir | PP Eﬁ X2 10kV93677t 3 2 35KV 45 4 A5 i b 10998.5 1550.67
L i ﬁﬂgﬁ BERA | ovesar i 11 2% 110KV # 1 245 H 3 9786.1 824.38
gy | PP Uﬁjj}ﬁ XOERA | oevesaze 1 2 110kV 4% B A5 i 3 8573.7 745.96
B 1 i gkl Fﬁgﬁ gtz | 10kverafi l;;l MRE T 110KV % b A% F il 8573.7 417.16
gy | PO ?ﬁ X pra s 10kV523 5 i 24 110KV 35 3 45 Fi 3 8920.1 604.46
gy | I Fﬁgﬁ XABA | jovssesiy 1 4 110KV 5 545 H 3 7274.6 943.78
gy | PO rgﬁ Xtz 10kV 5451 H: 2 110k AT A5 Fi 3 8573.7 691.36
gy | PP rgjﬁ X n 10kV5637Z 1 1 2% 110KV # ] 25 H 3 8573.7 998.36
g | EETH Fﬁ'rgﬁ X pera s 10kV563F1 -2 35KV = 4 4 i 7984.8 239.24
gy | I Fﬁgﬁ X n 10kV 52545 117 75 2 110KV 35 7 25 H 3 7794.2 493.66
g | AP Eﬁ Xtz 10KV 56134 1] £ 110KV #5725 HL ok 10565.5 1245.63
pigr | A ﬂﬂ%ﬁ? X2 10kV5767 % 1 2% 110KV 2 141745 HL 3 7794.2 2413.53
ppr | BT Fﬁrgﬁ XOSEA | qoevso2dF X T EI% | 110KV 25 3 7794.2 1793.51
g | I ﬂﬂ%ﬁ? X2 10KV 52117 7§ 2% 110KV 7 4125 H 3 8573.7 818.76
gy | PO ?ﬁ X pra s 10kV5174 L 2 110kV AT A5 Fi 3 7794.2 340.36
gy | PRI Fﬁgﬁ AR | jovsas 1T 14 110KV 5 545 H 3 8573.7 1254.46
gy | PP rgﬁ Xt 10kV 8073 17 15 £ 110k 47 HH A5 Fi 3 7794.2 1398.7
gy | PP Fﬁgﬁ ORBA | qokvesetit eI | 110KV B 7794.2 2324.66
gy | P IPTH D Bt 24 10kV514H: 5 25 110KV FE 5 45 Fi 3 4849.7 145.66

i




20254F (=ZFF) ML ERBEITHREE

FRY|  FREHHAT 554 7k CRET I et hanel L REE
gy | PP ?ﬁ XOERA | Joevesssi 11 2k 110KV /5 EF 45 H 7274.6 4258
pgr | A Fﬁgﬁ Xt 10kV538JfE |1 1 [f 110KV /5 TP A5 H 3 7794.2 2637.09
ppr | BT Fﬁ'rgﬁ Xtz 10kV51386 K 25 110kV FE B5 45 H b 2598.1 511.08
gy | PRI gﬁ X n 10KV 543/ [ 2% 110KV /5 545 H 3 10565.5 1580.55
ppr | P Fﬁ'rgﬁ X pera s 10kV571 1% BE 2% 110kV % 5425 HL 3 9786.1 2338.15
gy | I ﬂﬂ)%ﬁ? XA | jovsiz RO L 110KV 117 25 H 3 8573.7 759.86
g | BT Eﬁ X pra s 10KV 82435 9V £ 110KV 4k % 45 Fi 3 10565.5 866.73
gy | I Fﬁgﬁ AR | jovsioMhn T 14 110KV F A+ 45 H 3 10565.5 4415.44
ppir | PP Eﬁ X2 10kV863 =% 4 35KV = 3 A H 7361.2 321.16
pigr | I ﬁﬂ%ﬁ X2 10kV 8734 F £ 110KV 3% W35 H 3 10565.5 984.8
ppr | BT Fﬁ?ﬁ ORBA | qokvers e E 1 4 | 110KV I IS 3 8573.7 369.26
pg | I Fﬁgﬁ X2 10kV8354: 1 4 35KV G 111 45 HL v 10565.5 709.5
gy | PO ?ﬁ XOEEA | oevssam s 1T 110KV /5 EF 45 H 3 8920.1 529.67
gy | I Fﬁgﬁ X n 10kV805117 /1 4% 110KV 117 H 25 H 3 8573.7 2521.26
ppr | P Fﬁ'rgﬁ Xtz 10kV5453 T 1 5 110KV 5 545 H 3 7534.4 657.62
gy | PP rgjﬁ X n 10KV 8161 HE I114% 110KV 117 H 25 H 3 8573.7 577.96
ppr | BT Eﬁ X pera s 10kV 8187 [ 11 £ 110KV 7 41 25 HL 3 7794.2 974.96
gy | I Fﬁgﬁ X n 10KV 89417 2% 35KV FA AR HL 6668.4 1130.82
g | AP Eﬁ X pra s 10kV567 35 2% 2 110kV #7545 Fi 3 6928.2 407.96
pigr | A ﬂﬂ%ﬁ? X2 10KV 85845 2% £ 110KV 3% W1 45 H 3 9786.1 511.38
gy | PO rgﬁ X prra s 10KV 56245 5t £ 110KV 47 9 2% Lot 8573.7 263.96
g | I ﬂﬂ%ﬁ? X2 10KV 6354 14 35KV 4 4 A8 HL 9526.3 255.84
g | EEHTH Fﬁ'?ﬁ X pra s 10k 8144 FE 11 2 110KV 17 {25 . 3t 7794.2 2040.96
pepy | DT J‘Hﬁﬁgﬁ s 10kV57375 7 1 2% 110KV JF: 4 75 H 3 8573.7 3121.56
g | T Fﬁ'rgﬁ Xt 10kV8937 4 2 35KV 2 A5 i 3 7118.7 1647.36
ey | PP gﬁ X n 10kV87275 %% 1148 110KV 2 4 75 Fi 3 7794.2 3396.76
gy | P IPTH D Bt 24 10kV 50734, 75 2% 110KV 17 41 25 FL 3 10565.5 2056.98

i




20254F (=ZFF) ML ERBEITHREE

FRY|  FREHHAT 554 7k CRET I et hanel L REE
gy | PP ?ﬁ X pra s 10kV8334E k) 2k 35KV 4 111745 H 3 7863.5 883.1
pgr | A Fﬁgﬁ Xt 10KV 87745 M £ 110KV 7% W1 45 H 3 7534.4 1972.52
gy | PO ?ﬁ Xtz 10kV87375 3% 11 & 110kV % £ 45 HL 3 8573.7 1549.16
gy | PRI gﬁ X n 10kV 8667 41 11 2% 110KV 35 74745 H 3 9179.9 487.22
ppr | P Fﬁ'rgﬁ XPERA | Joevseadel 1 2 110kV #7545 Fi 3 8660.3 501.04
gy | I ﬂﬂ)%ﬁ? X n 10KV 8237 I 4L £ 110KV 35 25 H 3 10565.5 544.19
g | BT Eﬁ X pra s 10kV50445; 7 2 110KV 17 25 HoL 3 7794.2 1630.96
gy | I Fﬁgﬁ XARA | jovse1iE ik 1 2 110KV 45 B 25 H 3 9786.1 350.08
ppir | PP Eﬁ X2 10kV516/01°T- 25 110KV 17 4145 1 3 7794.2 1702.33
pigr | I ﬁﬂ%ﬁ X2 10kV5117 #1 £ 110KV FE 5745 H 3 4763.1 160.48
gy | PP Uﬁjj}ﬁ X pra s 10kV 865 1 2 110kV 7% 45 Hi 3 9786.1 944.97
pg | I Fﬁgﬁ XA | jovs16F R X 1 110KV LA 25 HL 3 7794.2 84.56
g | R Fﬁ'rgﬁ X pra s 10kV562J7 % 2 110kV 7% 45 Fi 3 8313.8 1222.24
gy | I Fﬁgﬁ AR | okveaslE1e B 1 2 110KV /5 B A5 L 8573.7 639.26
ppr | P Fﬁ'rgﬁ Xtz 10kV533/5 i 1 4 110KV 5 545 H 3 7794.2 2275.56
gy | I mgﬁ X n 10kV5064 iEl 2% 110KV F A+ 25 H 3 8573.7 1021.36
ppr | BT Eﬁ X pera s 10KV 52634 17 VIZ& 110KV 4k % 45 Fi 3 7794.2 101.26
gy | I Fﬁgﬁ X n 10kV512 4% HE 2% 110KV F A+ 25 H 3 10565.5 1072.7
g | AP Eﬁ Xtz 10kv8a15E 1l 11 ] 110KV /5 745 H1 8313.8 152.04
pigr | A ﬂﬂ%ﬁ? X2 10kV875HEET 11 2% 110KV 2 141745 HL 3 10392.3 204.54
ppr | BT Fﬁrgﬁ Xtz 10kV 5063 77 25 £ 110KV 17 #4145 H1 3 7794.2 4641.96
g | I ﬂﬂ%ﬁ? X2 10kV597 4k 2% 35KV A3 A8 Lk 11310.3 1095.99
gy | PO ?ﬁ X pra s 10kV877 7 41 11 & 110kV 2 4 45 Fi 3 8573.7 1693.65
gy | PRI Fﬁgﬁ s 10kV514%5 11 11145 110KV 117 H 25 H 3 7794.2 907.33
gy | PP rgﬁ XOERA | oevsestiit 4 B 2k 110kV #7545 Fi 3 6928.2 502.76
ey | PP gﬁ X n 10KV 50418 2% 110KV F A+ 25 H 3 9786.1 0.28
B M T PTA Fﬁ‘”j}ﬁ X peea st 10kV5454%) 2k 35kV AL HL vk 6581.8 0.04
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g | BT Fﬁ?ﬁ X pra s 10kV864 = [ 2 35KV = 4 A5 i 6581.8 0.04
pgr | A Fﬁgﬁ Xt 10KV 848 1% £ 35KV SRS HL 3290.9 0.02
pm | RPN Fﬁ?ﬁ X prrazy 10KV 52788 4525 110kV 338, P 5 HL 3 5022.9 0.02
gy | I Fﬁgﬁ X n 10kV51351 %6 4% 35KV A A7 10998.5 0
pgr | AT rgﬁ Xtz 10kV80317 F 2% 110k 47 1 45 Fi 3 7794.2 0
gy | I ﬂﬂ)%ﬁ? X n 10KV513{ E T 2% 120KV 117 4 75 H b 7794.2 0
g | BT Eﬁ X pra s 10kV 81517 625 110KV 17 #4145 H1 7794.2 0
gy | I Fﬁgﬁ PR | ovsaztita s 1 110KV /5 5745 H 3 7794.2 0
ppir | PP Eﬁ X2 10kV515 77 FE2% 110KV 17 {45 . 3 7794.2 0
pigr | I Fﬁ‘rgﬁ X2 10kv861 [1 4 % 114% 110KV 3% W35 H 3 8573.7 0
gy | PP Uﬁjj}ﬁ Xtz 10kV885iZ & 11 £ 110kV 4% B A5 i 3 8573.7 0
pg | I Fﬁgﬁ X2 10kV8175 111 IV 4 120KV 17 11 25 H 3 7794.2 0
g | R Fﬁ'?ﬁ X pra s 10kV843 [ 01 1] £ 110KV /5 EF 45 H 3 8573.7 0
pry | FVTMIORIOCA | ocvgrat i VeI | 110k o1 A 8573.7 0
pr iy | FIHIITATRCORR 2 10kVS144 4 £ 35KV 14 25 Hy 5196.2 0
gy | PP rgﬁ X n 10kv515]L X7 2% 110KV F A+ 25 H 3 10998.5 0
g | EETH Fﬁ'rgﬁ Xtz 10kV855 T 4% 110kV & %725 Hi s 11310.3 0
gy | I Fﬁgjﬁ X n 10kV 846 H 3 2% 35KV SLHAR HL B 10565.5 0
g | AP Eﬁ Xtz 10kV5053 117 35 4k 110KV 17 {45 3 7794.2 0
A PR Fﬁrgﬁ Xprrmsy 10kV8191/T B £k 110KV 7 A% il 8573.7 0
pegmr | B J"‘Iﬁqg}ﬁ Xtz 10kV53575 30 2 35KV 4 1145 i 3 9699.5 0
g | I ﬂﬂ%ﬁ? X2 10kv847 X H £ 35KV S AR HL 4849.7 0
pm | RPN Fﬁ?ﬁ X prea 10kV842 A 2 110KV 5 745 1 3 8313.8 0
pm | RPN mgﬁ Xpras 10kV 53511 5 2 110KV L A5 FL 3 8573.7 0
gy | PP rgﬁ Xt 10kV839f 1 11 7] 110KV 5 545 H 3 7794.2 0
gy | PP Fﬁgﬁ X n 10kV5644: 1114 2 110KV 35 74745 H 3 9179.9 0
gy | P IPTH D Bt 24 10kV856JA A 11 £ 110kV 47 B A5 Fi 3 7794.2 0
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pm | PO Fﬁ?ﬁ X peea 10kV856 % 1 2% 110KV .5 45 H1 10911.9 0
g | I J‘Hﬁﬁgﬁ Xt 10kv863 4 111 1T [ 110KV #7745 HL 3 10911.9 0
ppr | BT Fﬁ'rgﬁ Xtz 10kV54255111 1 [A] 110kV 7 5745 H 3 7794.2 0
pi iy | ITRIITRRCBERE ) sovgsy e i 10KV 4 91725 7707.6 0
ppr | P Fﬁ'rgﬁ Xtz 10kV559 12 3] 1 2% 110kV 47 B A5 Fi 3 9786.1 0
gy | I ﬂﬂ)%ﬁ? XARA | joveseb—ik 1 4 110KV # ] 25 H 3 8573.7 0
pm | RPN ﬂﬂgﬁ Xpreazy 10kV5545L1E 1 4 110KV 7% 1 45 HL 3 8573.7 0
i | AT Fﬁgﬁ R 10kV8sSALTE 11 4 110KV W 25 3 2598.1 0
pi iy | FTHIITATRC ORI 2 10kV5387 HE £ T10KV LR 5 10565.5 0
pigr | I ﬁﬂ%ﬁ X2 10kV833 /5 i 1145 110KV 5 P A5 H 3 7794.2 0
pm | EPPOA Fﬁ?ﬁ Xpreasy 10kV 8754 i IV 4; 110KV % B 45 1 3 8573.7 0
pg | I Fﬁgﬁ X2 10kV5584E it TTT2% 110KV 7% W1 45 H 3 8573.7 0
pm | PO Fﬁ?ﬁ X peea 10kV5574E i 1 4 110KV % B 45 1 3 8573.7 0
e | P mgﬁ Xfirs 10KV5674 i V £ 110kV $5 145 i 3 8573.7 0
pr | ERPOAT ?ﬁ X prraz 10kV8764E i 11 2% 110kV 7% 1 45 HL 3 8573.7 0
gy | PP rgjﬁ X n 10kV 8741 7 VI 110KV 17 1 2% 3 8573.7 0
B M i 0 JESF- T A3 fRL 2 ] 10kV/893 K B £k 35kV 75 fe AR HL gk 10444.3 528.88
Vg oA B S T ik R 2 ) 10kV 6944 i 25 £k 35kV 4§ 1632 H ok 10444.3 2812.84
A 0 JiSF T 43 FRL 2 ] 10kV838FA M — [ 2% 110kV M5 AL H ki 10444.3 2437.39
A W4 1 3t A 10kV505 K 4474 Pl 2k 110KV B A% # il 8920.1 144.18
B M T 0 Ji~F T 43 fRL 2 ] 10kV937EE AN VG £k 35KkV fE AL HL o 10444.3 444.64
e M T W JER P T A F A 10kV573 )5 12k 110KV T <1 4% H 3 7188 525.4
B M T 0 JERSF T 43 HRL 2 ] 10kV 554K A 2k 110kV 5% B A HL ki 10444.3 138.44
B 0 T g Ji P 7 it F 2 ] 10kV5111% il 345 2% 35KV 7 H A8 Ird A2 H bl 2944.5 395.2
ViFA N g Js 1 7 3t F 2 ) 10kV5151% el 55 2% 35KV i K46 E A2 H v 2944.5 342.4
e M T WA JE 1 T A E 0 ] 10kV 6784 4R & 35KV 7K % 3% H o 4797.8 671.24
B M T 0 JiSF- T 43 fRL 2 ] 10kV5994 111 £ 2% 35kV K LA AL HL Bk 4763.1 121.98
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ViFA N g Ji 1 7 it R 2 10kV818 I ¥ — [Fl £k 35KV AR E AL Ll 10444.3 21.34
B 0 i o L~ T it R A ) 10kV8877K M 7 £k 110KV J5 ~F- 4% 1 3 6148.8 2431.34
Br M T P JE P 7T A F A ] 10kV526 %+ £k 35KV Zx AR AR L vk 8227.2 446.76
Hr M T oA JB5L S T ik R A ) 10kV5064£ e 65 £ 35KV 7 H A8 el A2 H vl 2944.5 500
B M T g Ji ~F- 7 4t R 2 ) 10kV 8704 5% [ £k 110KV I fH1 A% L ik 10444.3 545.18
Br M T oA B~ T ik R 2 ) 10kV513 4] 45 £& 35KV 7 H A8 Id A2 H bl 2944.5 166.8
VgL N g i F- 7 it R 2 ) 10kV 9583 T 115 £k 35KV 4 16 A% L il 10444.3 2576.84
e M T WA JE 1 T A H 2 ] 10kV568 K £k 110KV UEE BH A% F 35 6581.8 1347.54
B M T g Ji F- 7 3t R 2 ) 10kV684H PH £k 35kV AL HL I 8920.1 548.18
B 0 i A 5L~ T it R A ) 10kV513 7R V4 2k 110KV T <1 4% H 3 4797.8 253.84
B M T g Ji F- 7 3t R 2 10kV5144% el 95 2% 35KV i K AL [E A2 H v 2944.5 153.2
B i A L~ T it R A ) 10kV936UE IT 11 1] 35KV AL il 9526.3 1137.04
ViFL N g Ji 1 7 3t R 2 ) 10kV527 I 2% 35KV AR A AR HL b 8227.2 353.76
e M T WA JE 1 T A H 0 ] 10kV593%F 1+ £k 35KV K 5LV AR H i 4797.8 29.04
ViFL N g Ji F- 7 3t f 2 10kV837 A — [l £& 110KV M AR HL vk 10444.3 2413.14
Br M T oA 5L~ T ik R A ) 10kV5187¢ e 115 2k 35KV 7 H A8 Ird A2 H bl 6928.2 740.36
B 0 i g Js ~F- 7 it R 2 ) 10kV686°E 75 £k 35kV AR HL I 8954.7 463.31
Vg WA JE 1 T AR H 2 ] 10kV813 % Jk £k 35KV 7R A2 L 10444.3 838.24
A g Ji F- 7 3t L 2 ) 10kV549f4 3L 2% 110kV B AL AZ HL ki 6581.8 328.84
B 0 i A J5L~F- T it R 2 ) 10kV863 1 < £k 110KV UEE BH A% H 35 10444.3 212.84
B M T g JsF- 7 3t R 2 ) 10kV503 |- PH 20 £k 35kV b B AR HL 8227.2 519.96
B M T 4 Ji P 7 it R 2 ) 10kV834FF ] = [n] £& 110KV A5 A2 L 3zl 9457 1639.9
B M T P Ji S T 43 v 28 ] 10k V504 FE A 28 i PL 2K 110KV B HE AL bl 8920.1 42.08
Hr M T oA JB5L S T ik R 2 ) 10kV 933 A AR 45 35KV AL il 8954.7 2385.94
LupAii g Js 1 7 3t F 2 ) 10kV865 1 57 11 [H] 2k 110k V Iz BH A% F 3 9526.3 12.24
e M T oA JB5 S T ik R A ) 10kV525 7K #1FH £k 35KV 7R+ 38 FL 3 8227.2 652.76
B T g Ji F- 7 it R 2 ) 10kV6742 ik 2k 35KV 7K %A% L i 6581.8 885.14
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ViFA N g Ji 1 7 it R 2 10kv868 11 <7 IV [ml £k 110Kk V I H A% F 2k 10444.3 621.01
B 0 i o L~ T it R A ) 10kV935 K Ak £k 35KV AL i 9526.3 1397.41
ViFA N g Ji 1 7 3t F 2 ) 10kV 6964, 117 65 £k 35KV 4 16 A% L 10444.3 1324.21
Hr M T WA JE 1 T A H 0 ] 10kV55155 J¢: I 110KV B AL AZ 6581.8 554.24
ViRA N g Ji ~F- 7 4t R 2 ) 10kV 885117 4 & 110KV Ji7 P48 3 10444.3 4525.74
Br M T oA B~ T ik R 2 ) 10kV5164£7H 105 £& 35KV 7 H A8 Id A2 H bl 2944.5 429.2
Br M T P Ji P T A F A 10kV 8887 7 2k 110KV J5 P45 H 10444.3 3483.65
VA WA JER P T A E 2 10kV939:4¢ 3% 2k 35KV AL 7776.9 381.12
B M T o i~ T it R 2 ) 10kV 5121k [l 85 £; 35KV i K AL IE A2 H v 2944.5 268
B 0 i A 5L~ T it R A ) 10kv886Ti £k 110KV Ji 1A% 1 3 10444.3 4047.64
B M T P Ji S T 43 v 28 10kV514FF < 4H 2k 110KV FF 5 A% i il 6703 1367.1
B i A L~ T it R A ) 10kV52474 12k 35KV AR #17% HL il 6581.8 591.74
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